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Created with CNC SW |840D s14.8 5P4
Name \DEMO-Lathe

Description

Machine image !Please choose a machine image.
Resolution | 640x480

Language | English - English

Description:

SP1-spindie (main spindle),
X-axis (linear geometry axis).
Y-axis (linear geometry axis).. ..

d82=

DEMO-Lathe

840D sl 4.8 SP4
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NC/UKS/EXAMPLE1/EXAMPLE1
;Example by Turning made easy with ShopTurny

; Example 1 : Taper shafty

N2@ Stock removal

N30 Turning T=ROUGHING_T86 A

N4@ RAPID X82 28.3
N50 F8.3/rev X-1.6
N6@ RAPID 21

N7@ RAPID X82

N8e RAPID 20

N9@ F8.25/rev X-1.6
N16@e RAPID 21

N110 RAPID X128 2268

\r1N120 Contour

N13@ Stock removal
N140 Stock removal
N15@ Undercut thrd
N16@ Thread long.
N17@ Groove
F_HOMEY

To _nae

v

U1=248m

T=ROUGHING_T80 A F=8.25/rev U=248m Face X0=86 26=1

TAPER_SHAFT_CONTOUR

T=ROUGHING_T88 A F=8.3/rev U=248m Longitudinal
T=FINISHING_T35 A F=0.15/rev U=200m Longitudinal
T=FINISHING_T35 A F=8.15/rev S=200rev X8=38 26=—17 X1=1.15inc
T=THREADING_1.5 P1.5mm/rev S=860rev Outside X0=30 26=0
T=PLUNGE_CUTTER_3 A F=8.1/rev U=156m N2 X0=60 26=—
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NC/WKS/EXAMPLE1/EXAMPLE1

0 @

X | -1.668 2 |

T ROUGHING_T88 A

— N50@ F8.3/rev X-1.6

'F 0.300/rev
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._v__'_ Uy +
oo Custom Additional HMI
Custom JAd tefnplates languages...

Install additional HMI languages

- 2 A s
- Language package ID:\Software\Sinutrain\koriV48EDz.slf I !
Language ..t Korean - +=0f ‘
Version |840D s| 04.08.00.00.001 ‘
{mport to 840D s14.8 SP4 -
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L ¥ Machine Position [mm] TES
- MX1 500.000 T =)
Cicon Additional HMI MZ21 500.000 @
templates langua o
¢ Mauge = MSP1 6.880° F 6.860 g@
S MSP3 8.600° ) mm/min =
Install additional HMI lang o s m§1 ': I e =
ife ST Al 2 ) .
Language package ID:\Soﬂware\Sinutrain\kor_V48ED2.slf I I _____ e
Language [r:_.fj ean - 2 =0 m
i Act. values
Version “3 D sl 04.08 1 | Machine
Importto (840D 5148 SP4 .
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Machine Position [mm] TES Auxiliary - i 11/61/18  3:04:11 PM
MX1 500.000 T functions 11/61/18  3:64:11 PM
: M%) 11/01/18 _3:84:11 Pr1
pioaA | OFFSET 08/21/15  6:31:15 AM
M21 500000, C S 11/01/18 3:64:11 PM
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